To Chairman Dennis Kucinich:

At the request of the Domestic Policy Subcommittee, | have done a statistical
analysis of the Merrill Lynch weekly loss data for the 12 weeks from September 26 to
December 12, 2008. The purpose of the analysis was to determine what loss trends
could reasonably be deduced from the loss data available to decision makers at three
points in time: November 7, November 14, and December 12. | have used the widely
accepted and highly standardized least squares regression curve fitting technique to
test both a straight (linear) and a curved (parabolic or second order) fit to the data. This
has resulted in the following conclusions:

1. Looking first at the 7 weeks of loss data available by November 7 shows:

a. ltis clear that there is a strong downward trend in the data that is almost
certainly not due to chance.

b. A straight line downward trend showing a steady $701 million loss per week
fits the data quite well.

~ c. If one were trying to determine whether the loss per week might be increasing
or decreasing rather than staying steady at $701 million per week (i.e. by fitting a curved
rather than a straight line), there is i) no evidence that the loss per week is decreasing,
and ii) some evidence that the losses per week are increasing.

The best curved (parabolic) line fit to the data shows the weekly losses
worsening to $1250 million loss per week by November 7--and, when projected forward,
worsening every week thereafter due to the downward curvature of the fitted line. Note
that this curved line fit only improves the accuracy (root mean square error) of the fit by
about 5%, so the case for increasing losses per week by November 7 is not
overwhelming.

2. Adding one more week of data to assess the situation as of November 14
shows:

a. Fitting a straight line downward trend yields a steady $1007 million lost per
week, over 40% worse than the November 7 assessment.

b. Adding in the November 14 week significantly strengthens the evidence for
deteriorating (as opposed to steady) weekly losses. The curved line fit now shows the
weekly loss deteriorating to $2400 million per week by November 14, nearly double the
November 7 curved line assessment. Relative to the straight line fit, the curved line
now improves the accuracy of the fit by 51% (root mean square error)--an improvement
in accuracy that it would be imprudent to ignore.



3. Looking at the 12 weeks of loss data available by December 12 shows:

a. Assuming steady weekly losses, the best straight line fit shows $1276 million
lost per week, over 80% worse than the November 7 weekly loss estimate--and almost
identical to the November 7 curved line assessment.

b. Assuming the possibility of a deteriorating trend, the curved line fit yields a
weekly loss that has worsened to $2030 million by December 12, not as bad as the
November 14 estimate but still 62% higher than the November 7 curved line weekly
loss. The curved line fit yields 14% better accuracy (root mean square error) than the
straight line fit, stronger evidence for a deteriorating trend than on November 7, but not
strong enough to make the curved line fit an obvious choice.

c. Given the weekly loss data available to decision makers on November 14 as
compared to the data available on December 12, the evidence for a constantly
deteriorating (i.e. curved) trend is much stronger on November 14 than it is on
December 12. This follows from the fact that the November 14 curved fit improves
accuracy over the straight line fit by 51% whereas the December 12 curved fit only
yields 14% improvement.

As a caveat to the above conclusions, it is important to keep in mind that all of
the above numerical estimates are necessarily quite imprecise because statistical
sample sizes of 7 to 12 data points are much too small for, say, plus or minus 10%
accuracy. That caveat does not invalidate any of the above conclusions as to what a
decision maker could reasonably conclude on November 7, November 14, and
December 12.

For documentary support of the above, | have attached the detailed results of the
computer runs on which | have based these conclusions.

Pierre M. Sprey
June 9, 2009
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_____________ +—_____________
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